

# Burnout in mental health services in Ireland during the COVID-19 pandemic

Dimitrios Adamis, Elisha Minihan, Noel Hannan, Anne M. Doherty and Fiona McNicholas

# Background

Burnout is a consequence of chronic occupational stress. Specific work-related factors may contribute to burnout experienced by those working in mental health services (MHS), many of which have increased since the COVID-19 pandemic.

## Aims

To examine personal, work- and patient-related burnout among MHS staff in Ireland during the COVID-19 pandemic, and explore the impact of work-related conditions on burnout.

#### Method

We conducted a cross-sectional survey of three MHS across Ireland utilising a study-specific questionnaire, the Copenhagen Burnout Inventory and the Effort–Reward Imbalance scale.

#### Results

Of 396 participants, 270 (70.6%) were female. Moderate and high personal burnout was experienced by 244 (64.1%) participants; work-related burnout by 231 (58.5%) participants and patientrelated burnout by 83 (21.5%) participants. Risk factors for both personal and work-related burnout were female gender, urban service, time spent outside main responsibilities, overcommitment, high score on the Effort–Reward Imbalance scale and intention to change job. Being younger, with high workload and deterioration of personal mental health during the pandemic was

High levels of occupational stress among healthcare staff have implications for patient safety and service delivery.<sup>1</sup> In Ireland, doctors working in hospitals have high rates of occupational stress, which are higher than doctors working elsewhere in Europe.<sup>2</sup> Those working in the speciality of psychiatry may be particularly vulnerable to developing burnout, as evidenced by higher levels of occupational stress reported than for other specialities<sup>3</sup> and as a result of being exposed to, and expected to manage, stress from numerous sources.<sup>4</sup> Although most of this research was conducted before the COVID-19 pandemic, it was expected that the COVID-19 pandemic would increase psychological distress and contribute to deterioration in pre-existing mental health conditions, as well as increase new presentations. Such increases in mental health distress have both direct and indirect effects for mental health service (MHS) providers. The psychological footprint of a pandemic is recognised to be far greater and longer lasting than the medical one, contributing to additional demands on MHS. At a time when clinical services were already overstretched, the COVID-19 pandemic is likely to compound this.<sup>5</sup> Unique COVID-19-related stressors (at least in hospital settings) included fears of adequate access to personal protective equipment (PPE); the risk of personal infection; transmission of infection to patients, colleagues or family; balancing duty of care to family at home and continuing to provide a service despite these demands.<sup>6</sup> However, although these additional stressors have been investigated widely in general hospitals (COVID-19 wards, critical care units) and accident and emergency departments, few studies have examined such stressors within a community MHS,7 with some initial justification on the basis that community services were not front-line and were therefore somewhat protected from the psychological distress typically expected associated with higher personal burnout, whereas a lack of opportunity to talk about work-related stress contributed to work-related burnout. Fewer factors were associated with patient-related burnout, namely overcommitment, working in urban services and poorer physical and mental health during the COVID-19 pandemic.

#### Conclusions

High levels of personal and work-related burnout were found among mental health workers. The weak association with COVID-19-related factors suggest levels of burnout predated the pandemic. This has implications for MHS given the recognised additional work burden created by COVID-19.

#### **Keywords**

Burnout; mental health services; COVID-19; Ireland; occupational stress.

## Copyright and usage

© The Author(s), 2023. Published by Cambridge University Press on behalf of the Royal College of Psychiatrists. This is an Open Access article, distributed under the terms of the Creative Commons Attribution licence (http://creativecommons.org/ licenses/by/4.0/), which permits unrestricted re-use, distribution and reproduction, provided the original article is properly cited.

among front-line workers, and that adaptations to delivery (e.g. remote delivery) were easier to implement.<sup>7</sup> Subsequent work has challenged this assumption, recognising that working remotely carries its own additional stress.<sup>8</sup>

In that context, this study was designed to examine the level of burnout in staff working in MHS across Ireland during the COVID-19 pandemic. We wanted to examine the level of personal, work- and patient-related stress; to explore and understand the impact of the COVID-19 pandemic and the consecutive restrictions imposed on burnout; and to examine specific work-related conditions on burnout levels.

# Method

This was a cross-sectional survey examining burnout among clinicians in MHS over the time period December 2021 to March 2022. Three MHS in Ireland were chosen, and for reasons of confidentiality these have been named A, B and C; two (A and C) were in urban areas and one was in a semi-rural area of Ireland (B). All staff working in these three MHS were eligible for participation, with no exclusion criteria applied.

## **Questionnaires/scales**

A study-specific questionnaire previously developed and used in other studies on burnout was used,<sup>4,6,9</sup> with minor adaptations. It included basic question on demographics, work-related conditions and specific questions relating to the pandemic, using yes/no or Likert scale responses (see Tables 1 and 2). The Copenhagen

able 1 Descriptive statistics for work-related questions		
	п	
rea you work in		
Clinical	289	-
Non-clinical	99	
Total	388	1(
ow much of your time do you think you spend on what you think is outside your area of responsibility/expertise?		
A little	151	
A moderate amount	175	
A lot of my time	65	
o you feel valued in your job?		
No	143	
Not sure	76	
Yes	174	
Total	393	1
	575	I
o you feel staff in your service experience good job satisfaction?	170	
No	179	
Yes	118	
Not sure	96	
Total	393	1
d you have any stress reduction training in your professional/job training?		
No	284	
Not sure	34	
Yes	77	
Total	395	1
you feel your organisation has tried to reduce work-related stress?		
No	269	
Yes	70	
Not sure	52	
Total	391	1
d you have any stress reduction training in your job before COVID-19?	571	1
No	306	
Yes	56	
Not sure	29	
Total	391	1
d you have any stress reduction training in your job after COVID-19?		
No	310	
Yes	47	
Not sure	34	
Total	391	1
o you have anyone in your organisation you can talk to about work-related stress or burnout?		
No	134	
Yes	205	
Not sure	55	
Total	394	1
w would you rate your current work ability compared with your lifetime best?		
Better	77	
Worse	180	
Same	122	
Total	379	
	3/9	1
ere were occasions when I think I should have taken time off for illness but did not	0/0	
Yes	262	
No	122	
Total	384	1
ave you seriously thought of changing jobs in the past 6–12 months?		
No	137	
Not sure	14	
Yes	244	
Total	395	1

Burnout Inventory (CBI) was the main outcome scale, examining levels of personal stress or burnout, along with the degree of burnout perceived to be related to work and client/patient population.<sup>10</sup> It has three domains: work-related burnout (seven items), personal burnout (six items) and patient-related burnout (six items). All 19 items are scored with a five-point Likert scale: always/very high degree, often/high degree, sometimes/somewhat, seldom/low degree and never/almost never (scored 4, 3, 2, 1 and 0, respectively). Maximum scores for subscales are 24 for both personal and patient-related burnout

(total scale score maximum 76). Higher scores indicate higher levels of burnout. It is well-validated with a high reliability/agreement.<sup>11</sup> The Effort–Reward Imbalance (ERI) scale (short version) was also used. This includes 16 items divided in three domains measuring effort (three items), reward (seven items) and overcommitment (six items).<sup>12</sup> Higher scores indicate more effort, less reward and overcommitment. Each item is rated on a four-point Likert scale. The ERI has good psychometric properties, with alpha coefficients of 0.85 for effort and 0.84 for reward.<sup>13</sup> It has previously been used and validated, with good correlation between high effort, low

https://doi.org/10.1192/bjo.2023.552 Published online by Cambridge University Press

	п	
Vas there a change in your overall workload during COVID-19?		
Increased	308	8
Same	43	
Decreased	22	
Total	373	1(
	3/3	IV.
as there any change in staffing levels in your department during COVID-19?	25	
Increased	35	
Same	139	:
Decreased	201	
Total	375	10
/as there any change in level of clinical support in your department during COVID-19?		
Increased	31	
Same	184	
Decreased	160	
Total	375	1
as there any change in the level of administrative support in your department during COVID-19?		
Increased	31	
Same	189	
Decreased	155	
Total	375	1
	3/5	1
elative to usual activity, do you think patient contact/referrals changed during COVID-19?		
Increased	213	
Same	67	
Decreased	88	
Total	368	1
elative to your usual satisfaction with your work, has this changed during COVID-19?	000	
, , , , , , , , , , , , , , , , , , , ,	47	
Increased	47	
Same	136	:
Decreased	188	
Total	371	1
required, do you feel you had adequate access to PPE during COVID-19?		
Yes	332	
No	37	
Total	369	1
id you feel you were provided with adequate information on COVID-19 from your organisation/department?		
Yes	337	
No	33	
Total	370	1
	5/0	
as there any change in your physical health in relation to/during COVID-19?		
Improved	12	
No change	217	
Deteriorated	136	
Total	365	1
as there any change in your mental health in relation to/during COVID-19?		
	10	
Improved	10	
No change	152	
Deteriorated	205	
Total	367	1
as there any change in the physical health of a family member linked to/during COVID-19?		
Improved	4	
No change	236	
Deteriorated		
	118	4
Total	358	1
as there any change in the mental health of a family member linked to/during COVID-19?		
Improved	3	
No change	184	
Deteriorated	168	
Total	355	1
as there any change to your eating habits during COVID-19?		
Improved	42	
	177	
No change	152	
	102	
Deteriorated	071	
Deteriorated Total	371	I
Deteriorated Total d your relationship with alcohol improve or disimprove during COVID-19?		
No change Deteriorated Total d your relationship with alcohol improve or disimprove during COVID-19? Improved	371 44	
Deteriorated Total d your relationship with alcohol improve or disimprove during COVID-19? Improved		
Deteriorated Total d your relationship with alcohol improve or disimprove during COVID-19? Improved No change	44 232	
Deteriorated Total d your relationship with alcohol improve or disimprove during COVID-19? Improved No change Deteriorated	44 232 89	1
Deteriorated Total d your relationship with alcohol improve or disimprove during COVID-19? Improved No change Deteriorated Total	44 232	
Deteriorated Total d your relationship with alcohol improve or disimprove during COVID-19? Improved No change Deteriorated Total as there any change to your sleeping habits during COVID-19?	44 232 89 365	
Deteriorated Total d your relationship with alcohol improve or disimprove during COVID-19? Improved No change Deteriorated Total	44 232 89	

	п	
Deteriorated	189	5
Total	368	10
Vas there any change to your exercise habits during COVID-19?		
Improved	119	
No change	113	
Deteriorated	137	:
Total	369	1
low likely is it that any behavioural change you have made during COVID-19 will continue post pandemic?		
Likely	222	
Unlikely	24	
Not sure	121	
Total	367	1
low confident did you feel about access to and correct use of PPE?		
Confident	327	
No confident	42	
Total	369	1
low aware are you about the occupational supports available to you through your workplace?		
Very high degree of awareness	32	
High degree of awareness	68	
Somewhat aware	151	
Low degree of awareness	74	
Very low degree of awareness	38	
Total	363	1
low likely are you to access these services if you needed assistance?		
Likely	139	:
Unlikely	92	
Not sure	132	
Total	363	1

reward and poor health. The scale allows for the calculation of an effort/reward ratio (ERIdx), which can be log10 transformed and used as a continuous variable. An unfavourable ERIdx score of >1 indicates more effort for each reward.

Procedure: all staff working in the three MHS were invited to participate, using a mixed-method approach to maximise participant reach. Invitations were disseminated by email, sent from administration and containing a link to the survey and a study information sheet, with a reminder email sent 4 weeks later (the study was offered twice). Hard copies were also left in the workplaces with a prepaid stamped envelope addressed to investigators, and the survey was mentioned at team meetings. The end of the study was declared after 6 weeks of the reminders.

The study received local research ethics committee approval at each site (Sligo University Hospital number 867 21/4/21; Saint John of God identifier 779 on May 2021; and University College Dublin Research Ethics Committee reference LS-19-103-Minihan-McNicholas on January 2021). Written consent was obtained anonymously by ticking the relevant box in the information for participants or selecting the consent box in the online version. The participation was strictly voluntary and no reward was offered.

# **Statistical analysis**

Categorical variables were summarised as counts and percentages, and continuous variables were summarised as means and s.d. If the continuous variable was not normally distributed, the median, interquartile range, and minimum and maximum were reported. Division of CBI total scale and subscales into categories was based on the distribution of scores. Respondents scoring below average (50% of sample scores) were characterised as experiencing 'low/no' burnout, the 25% scoring above average were characterised as 'moderate' burnout and the top 25% were characterised as 'high' burnout, consistent with previous CBI reporting methodology.<sup>6,11</sup> For bivariate

https://doi.org/10.1192/bjo.2023.552 Published online by Cambridge University Press

analysis, parametric or non-parametric tests were used as appropriate to data distribution. To examine the main effects of individual variables on the three subscales of CBI, a multivariate analysis was used. To avoid multicollinearity and reduce the number of independent variables, those with high correlations were not included in the initial model. Variables that did not significantly contribute to the model were dropped individually until a parsimonious model was achieved. All analysis was done with IBM SPSS version 25 software.

## Results

A total of 1701 staff were eligible to participate in the study, and 475 responded (response rate 27.93%). Response rates varied by service: 18.1% (247/1368) for MHS A, 62.43% (108/173) for MHS B and 75% (120/160) for MHS C. A further 79 were excluded because of significant questionnaire incompletion, reducing the final number analysed to N = 396.

# **Descriptive statistics**

Of the total 396 participants, 279 were female (70.5%). The mean age of participants was 44.24 years (s.d. = 10.97). Most respondents were clinicians (n = 289, 74.5%), followed by staff in support services (n = 57, 14.7%) and administrative/secretarial roles (n = 42, 10.8%), such that the non-clinical group comprised 99 respondents (25.5%). The median duration of time spent working in the service was 15 years (interquartile range 18, range 1–43). Most respondents worked predominantly in intellectual disability MHS (n = 116, 39.3%), followed by adult MHS (n = 95, 32.2%), child and adolescent MHS (n = 58, 19.7%) and old-age MHS (n = 9, 3.1%). Others included supporting (maintenance) services for all groups (n = 17, 5.8%). Work-related descriptive statistics are presented in Table 1, and COVID-19-related questions are shown in Table 2.

Descriptive statistics for the CBI are presented as continuous variables, using cut-off points (Table 3), along with the mean ERI

Table 3Copenhagen Burnscale	iout Inven	tory and Effo	rt–Reward Im	Ibalance
	п	%	Mean	s.d.
Work-related burnout				
No/low	165	41.7	52.71	20.61
Moderate	159	40.2		
High	72	18.2		
Total	396	100.0		
Personal burnout				
No/low	152	38.4	53.55	20.41
Moderate	177	44.7		
High	67	16.9		
Total	396	100.0		
Patient-related burnout				
No/low	303	78.5	31.35	19.97
Moderate	71	18.4		
High	12	3.1		
Total	386	100.0		
Total burnout				
No/low	221	55.8	46.35	17.26
Moderate	155	39.1		
High	20	5.1		
Total	396	100.0		
Total effort			9.1	1.96
Total reward			17.36	3.66
Total overcommitment			14.57	3.69
Effort–reward index (ERIdx)			1.31	0.49

scores. Most participants scored in the moderate and high level of work-related and personal burnout, with corresponding mean scores of 52.71 (s.d. = 20.6) and 53.55 (s.d. = 20.41). Lower mean scores (31.35, s.d. = 19.97) were present for patient-related burnout.

## **Bivariate statistics**

Examination of levels of burnout between genders showed that women were significantly more likely to have higher total, personal and work-related burnout compared with men (total: t = -3.159, d.f. = 393, P = 0.002; personal: t = -3.567, d.f. = 393, P < 0.001; work-related: t = -3.784, d.f. = 393, P < 0.001). No gender-specific difference was found for patient-related burnout (t = -0.422, d.f. = 383, P = 0.673). The age of participants was not significantly correlated with burnout (total, personal, work-related and patientrelated), but years working in the service was positively corelated with total burnout (r = 0.161, P = 0.025), personal burnout (r =0.181, P = 0.011) and work-related burnout (r = 0.186, P = 0.009). No such findings existed for patient-related burnout (r = 0.035, P = 0.632). In addition, log-ERIdx (higher scores indicate more effort with less reward) was positively corelated with total burnout (r = 0.537, P < 0.001) and all subscales (personal burnout: r =0.483, P < 0.001; work-related burnout: r = 0.584, P < 0.001; patient-related burnout: r = 0.282, P < 0.001). No significant differences were found between clinical and non-clinical staff in terms of levels of burnout (total, personal, work-related, patient-related), overcommitment and log-ERIdx.

#### **Multivariate analysis**

To control for confounders, a multivariable model was constructed with three dependent variables (work-related burnout, personal burnout, patient-related burnout) and a number of independent variables (in the initial model): (a) demographics (gender, age, years of working in MHS, location), (b) work-related questions (time spent outside of area of responsibility/expertise, clinical/non clinical work, intention to change job, stress reduction training, availability to discuss burnout, current work compared with previous work) and (c) COVID-19-related questions (workload during COVID-19, job satisfaction during COVID-19, personal and family health during COVID-19, access and correct use of PPE, and awareness of occupational support in the workplace). In addition, the log-ERIdx (effort–reward imbalance) and total overcommitment were added as independent variables. The final parsimonious model is presented in Table 4 (tests of between-participant effects) and Table 5 (parameter estimates). The final model did not depart from the assumption of equality of covariance matrices (Box's M test, mean 18.403, F = 1.032, d.f.1 = 12, d.f.2 = 859.781, P = 0.417) and the assumption of homogeneity of variance (Levene's test; personal burnout: F = 1.421, d.f.1 = 272, d.f.2 = 44, P = 0.080; work-related burnout: F = 1.010, d.f.1 = 272, d.f.2 = 44, P = 0.505).

The location of the MHS, personal mental health and degree of overcommitment had significant effects in the three subscales of the CBI (Table 4). Gender, time spent outside area of expertise, intention to change job and effort/reward had a significant effect only in work-related and personal burnout (Table 4). Age had only a significant effect in personal burnout. Personal physical health was significantly associated with patient-related burnout. Change in job satisfaction during the COVID-19 pandemic was significantly associated with work-related burnout only. The ability to talk to someone for issues related to burnout was significantly associated with work-related burnout and marginally with patient-related burnout (Table 4). Table 5 presents the effects of each level of the independent variables on the three subscales of the CBI.

After controlling for confounders, it seems that personal burnout is significantly associated with female gender and younger age, work characteristics (service locality), spending a lot of time outside of main responsibilities, higher overcommitment, low reward with more effort and intention to change job (Table 5). Those with the same workload during the COVID-19 pandemic had more personal burnout compared with those with a reduced workload. Job satisfaction remained the same during the pandemic and was related to lower levels of burnout. Those with stable mental health during the pandemic also had lower levels of burnout compared with staff who experienced mental health deterioration.

Similar factors were also related to work-related burnout. These included female gender, overcommitment, high effort with less reward, location of services, spending a lot of time outside of main responsibilities and intention to change job. Reduced workrelated burnout was associated with each of the following: availability of someone to talk about work-related stress inside the organisation, stable job satisfaction and stable personal mental health during the pandemic.

Finally, regarding patient-related burnout, demographic variables (age, gender) did not have any significant effect, but overcommitment and location of services did. Personal physical and mental health, and mental health of family members, were significantly associated with patient-related burnout. Those with stable mental health during the COVID-19 pandemic experienced lower levels of burnout, in contrast to the higher levels of burnout found in those with stable or improved physical health during the pandemic.

## Discussion

# **Burnout**

The majority of those surveyed had moderate to high levels of personal and work-related burnout, as measured by the CBI. This was in stark contrast to the low or absent levels of patient-related burnout, suggesting that despite high overall stress levels, compassion fatigue and empathic distress were low. This concurs with

	Type 3 sum				
Source	of squares	d.f.	Mean square	F	Significan
ntercept					
Personal burnout	3553.361	1	3553.361	20.126	< 0.001
Work-related burnout	3356.182	1	3356.182	24.081	< 0.001
Patient-related burnout	50.664	1	50.664	0.175	0.676
Mental health service (locality)					
Personal burnout	3963.675	2	1981.837	11.225	< 0.001
Work-related burnout	3585.864	2	1792.932	12.865	< 0.001
Patient-related burnout	2108.729	2	1054.365	3.643	0.027
Gender					
Personal burnout	1844.424	1	1844.424	10.447	0.003
Work-related burnout	1706.830	1	1706.830	12.247	0.001
Patient-related burnout	613.506	1	613.506	2.120	0.146
Time outside responsibilities					
Personal burnout	2624.145	2	1312.072	7.432	0.003
Work-related burnout	3018.680	2	1509.340	10.830	<0.001
Patient-related burnout	79.858	2	39.929	0.138	0.871
Changing job					
Personal burnout	2693.402	2	1346.701	7.628	0.001
Work-related burnout	2865.306	2	1432.653	10.279	<0.001
Patient-related burnout	879.557	2	439.779	1.520	0.220
Anyone in your organisation that you can talk to for burnout					
Personal burnout	230.703	2	115.351	0.653	0.521
Work-related burnout	1609.141	2	804.571	5.773	0.003
Patient-related burnout	1762.667	2	881.333	3.046	0.049
Overall workload during COVID-19					
Personal burnout	787.170	2	393.585	2.229	0.109
Work-related burnout	20.564	2	10.282	0.074	0.929
Patient-related burnout	1288.690	2	644.345	2.227	0.110
Change in job satisfaction during COVID-19					
Personal burnout	747.756	2	373.878	2.118	0.122
Work-related burnout	1083.934	2	541.967	3.889	0.022
Patient-related burnout	402.170	2	201.085	0.695	0.500
Personal mental health					
Personal burnout	1447.613	2	723.807	4.100	0.018
Work-related burnout	1867.270	2	933.635	6.699	0.001
Patient-related burnout	4253.318	2	2126.659	7.349	0.001
Family member mental health					
Personal burnout	638.994	2	319.497	1.810	0.166
Work-related burnout	749.003	2	374.501	2.687	0.070
Patient-related burnout	1678.249	2	839.124	2.900	0.057
Personal physical health	10, 012 17	-	0071121	21700	0.007
Personal burnout	854.001	2	427.000	2.419	0.091
Work-related burnout	477.370	2	238.685	1.713	0.182
Patient-related burnout	3346.107	2	1673.054	5.781	0.003
Age	00101107	-	10/01001	0.701	0.000
Personal burnout	759.243	1	759.243	4.300	0.039
Work-related burnout	385.599	1	385.599	2.767	0.097
Patient-related burnout	43.232	1	43.232	0.149	0.699
og-ERIdx	40.202	·	40.202	0.147	0.077
Personal burnout	1399.393	1	1399.393	7.926	0.005
Work-related burnout	3568.957	1	3568.957	25.608	< 0.001
Patient-related burnout	158.995	1	158.995	0.549	0.459
Dvercommitment	100.770	I	100.770	0.047	0.405
Personal burnout	9620.546	1	9620.546	54.490	< 0.00
Work-related burnout		-			
	7962.080	1	7962.080	57.129	<0.001
Patient-related burnout	9076.208	1	9076.208	31.364	< 0.00

other studies conducted both during the COVID-19 pandemic<sup>6,14</sup> and before it,<sup>4,15</sup> and is consistent with meta-analyses and systematic reviews.<sup>3,16</sup> This finding of relatively high levels of personal and work-related burnout compared with a lower level of patientrelated burnout has been found in studies examining other disciplines, e.g. among midwifes<sup>17</sup> and teachers.<sup>9</sup> The lower levels of stress and burnout regarding patients (or in the case of teachers, students) suggest that organisational or personal, rather than patientor student-related factors, are contributory to stress levels. Given

the lack of longitudinal data, we are unable to examine whether patient-related stressors changed during the COVID-19 pandemic. It is reassuring that it follows previous patterns of lower levels, indicating that despite anticipated additional patient-related care required during the pandemic, patient-related factors remained low. Burnout is a complex and multifactorial syndrome, making it difficult to attribute its development to a specific cause. It has been suggested that personal burnout may be related to low salary and lack of recognition, whereas work-related burnout is associated

	riables are show				95% Confidence interval		
Dependent variable	В	s.e.	t	Significance	Lower bound	Upper bound	
Personal burnout	В	3.0.	L	Significance		opper bound	
Intercept	46.819	6.817	6.868	<0.001	33.403	60.235	
Service A	-2.896	2.000	-1.448	0.149	-6.833	1.041	
Service B	-10.292	2.000		<0.001	-14.763	-5.820	
	- 10.292 0 <sup>a</sup>	2.212	-4.530	<0.001	- 14.703	-5.820	
Service C	0	1 700	2 222	0.001	9 OF 4	0.17/	
Male	–5.565 0 <sup>a</sup>	1.722	-3.232	0.001	-8.954	-2.176	
Female	04						
Time spent on work outside of responsibilities							
A little	-8.378	2.347	-3.569	<0.001	-12.997	-3.759	
A moderate amount	-7.702	2.173	-3.544	<0.001	-11.978	-3.425	
A lot of my time	0 <sup>a</sup>						
Changing job							
No	-5.907	1.887	-3.130	0.002	-9.621	-2.193	
Not sure	-11.486	4.028	-2.852	0.005	-19.413	-3.560	
Yes	0 <sup>a</sup>						
Overall workload							
Increased	5.285	3.316	1.594	0.112	-1.240	11.811	
Same	8.173	3.875	2.109	0.036	0.546	15.799	
Decreased	0.173 0 <sup>a</sup>	3.675	2.109	0.036	0.546	13.799	
	0						
Change in job satisfaction		0.450	500	0 557	( 0 ( 0	0.001	
Increased	-1.440	2.450	588	0.557	-6.260	3.381	
Same	-4.002	1.951	-2.051	0.041	-7.842	-0.161	
Decreased	0 <sup>a</sup>						
Personal mental health							
Improved	-6.341	5.419	-1.170	0.243	-17.006	4.324	
Same	-5.581	1.984	-2.813	0.005	-9.485	-1.677	
Deteriorated	0 <sup>a</sup>						
Age	-0.155	0.075	-2.074	0.039	-0.302	-0.008	
log-ERIdx	17.153	6.093	2.815	0.005	5.162	29.144	
Overcommitment	1.864	0.252	7.382	<0.001	1.367	2.361	
Work-related burnout	1.004	0.232	7.302	<0.001	1.307	2.301	
	F2 F10		0.025	-0.001	41 EOO	(F 420	
Intercept	53.510	6.057	8.835	< 0.001	41.590	65.430	
Service A	-4.834	1.777	-2.720	0.007	-8.332	-1.336	
Service B	-10.230	2.019	-5.068	<0.001	-14.202	-6.257	
Service C	0 <sup>a</sup>						
Male	-5.353	1.530	-3.500	0.001	-8.364	-2.343	
Female	0 <sup>a</sup>						
Time spent on work outside of responsibilities							
A little	-8.822	2.085	-4.230	< 0.001	-12.926	-4.718	
A moderate amount	-8.403	1.931	-4.353	< 0.001	-12.203	-4.604	
A lot of my time	0 <sup>a</sup>						
Changing job							
No	-6.582	1.677	-3.925	<0.001	-9.882	-3.282	
Not sure	-10.472	3.578	-2.927	0.004	-17.515	-3.430	
	-10.472	5.576	-2.721	0.004	-17.515	-3.430	
Yes	0						
Someone to talk to for burnout							
No	0.592	2.162	0.274	0.784	-3.663	4.847	
Yes	-4.441	2.016	-2.203	0.028	-8.408	-0.473	
No sure	0 <sup>a</sup>						
Change in job satisfaction							
Increased	0.246	2.176	0.113	0.910	-4.037	4.530	
Same	-4.426	1.734	-2.553	0.011	-7.838	-1.014	
Decreased	0 <sup>a</sup>						
Personal mental health	0						
Improved	-8.313	4.815	-1.727	0.085	-17.789	1.163	
Same	-6.238	1.762	-3.540	<0.003	-9.707	-2.770	
		1.702	-3.340	<0.001	-9.707	-2.770	
Deteriorated	0 <sup>a</sup>						
log-ERIdx	27.394	5.413	5.060	<0.001	16.740	38.047	
Overcommitment	1.696	0.224	7.558	<0.001	1.254	2.137	
Patient-related burnout							
Intercept	7.640	8.727	0.875	0.382	-9.536	24.816	
Service A	-4.137	2.561	-1.615	0.107	-9.177	0.904	
Service B	-7.847	2.909	-2.698	0.007	-13.572	-2.123	
Service C	0 <sup>a</sup>						
Personal mental health	ũ						
	2 517	6 020		0 410	17 171	10 107	
Improved	-3.517	6.938	-0.507	0.613	-17.171	10.137	
Same	-9.686	2.540	-3.814	<0.001	-14.684	-4.688	
Deteriorated	0 <sup>a</sup>						

(Continued)

Dependent variable		s.e.	t	Significance	95% Confidence interval	
	В				Lower bound	Upper bound
Family mental health						
Improved	-15.706	13.931	-1.127	0.260	-43.122	11.711
Same	4.391	2.186	2.009	0.045	0.089	8.694
Deteriorated	0 <sup>a</sup>					
Personal physical health						
Improved	14.511	5.927	2.448	0.015	2.847	26.176
Same	6.733	2.305	2.922	0.004	2.198	11.268
Deteriorated	0 <sup>a</sup>					
Overcommitment	1.810	0.323	5.600	< 0.001	1.174	2.446

a. This parameter is set to zero because it is redundant.

with organisational issues such as limited resources and perceived mismanagement resulting in high levels of stress.<sup>17</sup> It is surprising that no research has explored why patient-related burnout is low compared with other forms of burnout.

## **COVID-19-related factors**

During the COVID-19 pandemic, most participants (83%) reported increased workload, but this increase did not have any significant effect on burnout. It is possible that the new challenges and the feeling of being active and able to contribute to the well-being of others in this time of uncertainty had a protective effect. For a minority of respondents, where workload either remained the same or reduced, an unchanged level was associated with higher levels of personal burnout. Caution is required, given the small numbers and wide confidence intervals suggesting a type 1 error. Half of the respondents reported reduced job satisfaction during the pandemic, adversely affecting personal and work-related domains of burnout. Those with unchanged job satisfaction reported lower levels of mental health during the pandemic had less burnout in all subscales compared with those who experienced a mental health deterioration. This close association between adverse mental health and burnout has been reported in other studies examining depression and anxiety.<sup>18</sup> As this study was cross-sectional, a cause-effect relationship cannot be determined. The finding of higher patient-related burnout (typically the last type to increase) in those with unchanged as opposed to deteriorated physical health, might at first glance seem surprising. It is our suggestion that staff who remained physically well continued to present to work, whereas those who became unwell may have taken time off work. As such, the former group may have had to cover gaps in services when other colleagues were on sick leave, and usual annual leave was suspended at that time. In our study, COVID-19-related variables, such as access to PPE or information about COVID-19, did not have a significant effect on burnout, which is at odds with previous studies.<sup>6,9</sup> This might be accounted for by the timing of our study (conducted toward the end of the second wave of the COVID-19 pandemic, where many of these issues, including uncertainty, had been resolved) and/or of the location of the study (conducted in a community setting as opposed to the hospital setting where access to such protective wear is of greater importance).

Intention to change job and higher time spent outside primary responsibilities were independent predictors of personal and work-related burnout. In contrast, the opportunity to speak to someone inside the organisation about burnout was associated with reduced levels of work-related burnout. The association between intention to change job and burnout is well established.<sup>15,18</sup> This relationship is reciprocal, and it has been speculated that it may

be mediated by organisational factors such as ineffective policies, inadequate workforce planning and recruitment, incompetent implementation planning and ineffective leadership.<sup>18</sup> Similarly, spending time outside of one's area of responsibilities can generate anxiety as well as a sense of inadequacy or lack of competence, and may be compensated for by increasing additional hours. Being aware about burnout, speaking about it, participating in support groups and increasing social capital in the workplace are protective factors from burnout and reduce the intention to leave.<sup>19</sup>

Our study also unearthed some location specific and unexpected results. Significantly lower rates of all measures of burnout (personal, work-related and patient-related) were found in MHS B, which was located in a semi-rural part of Ireland. In contrast, MHS A and MHS C were large urban areas and had higher burnout rates. This effect was independent of the other examined factors. Tham et al<sup>20</sup> alluded to the paucity of data examining rural and urban healthcare workers. In their large (N = 7846)cross-sectional study conducted in Australia, of whom 18.8% worked in regional or remote areas and 81.2% in metropolitan areas, they reported higher levels of personal accomplishment among rural healthcare workers and lower rates of post-traumatic stress disorder and depersonalisation (rural 18.1%, metropolitan 20.7%). However, there was also evidence of increased negative effects among rural workers, such as higher levels of emotional exhaustion (rural 46.5%, metropolitan 43.3%; P = 0.002), mental health concerns (prevalent in 82%) and burnout levels. Another study, conducted early on in the COVID-19 pandemic, also reported that rural healthcare workers in China had higher rates of mental health difficulties, such as insomnia, anxiety and depression, although levels of burnout were not measured.<sup>21</sup> Reasons given by the authors in this study included difficulties linked with rural locations and access to urgent and quality medical care. A more recent study from Romania showed no difference in burnout rates between rural and urban areas.<sup>22</sup> Previous work has also suggested a higher rate of burnout among rural mental health providers, attributed to factors such as limited resources, geographical isolation, difficulties with recruitment and retention, and a tendency for rural dwellers to delay help-seeking and present later in their course of illness.<sup>23</sup>

The reverse occurred in our study, with higher rates of burnout being present among urban providers. Some researchers have, in fact, suggested a predilection for urban workers to have higher burnout rates. A pre-COVID-19 study examining burnout of family doctors working in rural and urban areas, found that urban-based doctors reported higher rates of burnout.<sup>24</sup> The authors proposed several reasons for this finding: increased autonomy in rural settings, better relationships with patients, patients being more appreciative of their care and better personal and family lifestyle outside of the work.<sup>24</sup> Other pre-COVID-19 studies suggested that in large cities, income is lower in relation to higher living costs, increased traffic and increased competition in the field of activity, and that this may explain those differences in medical personnel burnout between rural and urban areas.<sup>22,25</sup> Although the lack of resources and increased case-load in rural and semi-rural areas have been hypothesised as risk factors for burnout, the present study and findings from previous research do not support this. Other factors previously reported in the literatures need to be investigated as possible protective factors for burnout. Health policies cannot explain this finding, as all MHS in our sample operate under the same policies. Perhaps lower levels of fear of contamination and lower prevalence rates of COVID-19 in rural and semi-rural areas compared with urban areas, lower rates of mental health referrals or mental health psychopathology among rural dwellers, and reduced impact of restrictions in less built-up areas are possible explanations, but those factors were not examined in this study.

Female gender was an independent predictor for both personal and work-related burnout. Previous studies have shown similar results across different settings and disciplines.<sup>6,26</sup> However, not all studies have found this difference between genders. It was assumed that burnout is a female experience,<sup>27</sup> but burnout may be experienced differently by men and women.<sup>28</sup> Regional variation has been reported in the relationship between gender and burnout across countries, with higher rates found for women in USA studies, lower rates in European studies and no difference in Eastern Mediterranean and Arab countries, although the confound of lower female representation in the working population needs to be considered in certain countries.<sup>29</sup> The scales used to measure burnout can influence the results (total burnout versus subscale burnout). For instance, in our sample when the total burnout scale was used in bivariate statistics, there was a significant difference between men and women, but this difference only holds for workrelated and personal burnout, not patient-related burnout. Similarly, with the Maslach Burnout Inventory (MBI), a meta-analysis<sup>30</sup> showed that women were more likely to be more emotionally exhausted than men (one subscale of the MBI); however, examining a different subscale of the MBI, men were more likely to report depersonalisation than women. The relationship between burnout and gender is complex, and statistical analyses, gender stereotypes, perception of women in their role in the workforce, and unrecorded 'invisible' care either in work or at home may explain this relationship.<sup>3</sup>

This study found that younger age was a risk factor for higher personal burnout and aligns with many previous studies reporting similar results.<sup>6,26</sup> In a systematic review and meta-analysis of burnout in mental health professionals, O'Connor et al<sup>16</sup> reported that levels of burnout typically decrease with age, whereas a study of neurologists suggested that the relationship between age and burnout may be non-linear, with a tendency to increase up to 40 years of age and then decrease.<sup>32</sup> Our study found that age is related to personal burnout only, and may reflect personal choices in professional development and personal commitments outside of work, including family and social factors.

## Effort-reward imbalance and overcommitment

More effort with less reward (higher log-ERIdx) was an independent predictor for higher personal and work-related burnout, but was unrelated to patient-related burnout. Higher levels of overcommitment were associated with higher burnout across the three subscales. Similar results have been reported in previous studies of health professionals in Ireland<sup>2,4</sup> and elsewhere, and in diverse occupations.<sup>33–35</sup> Commitment to one's job has been viewed as a potentially protective position against adverse effects of stress, facilitating personal meaning and resolve to one's work, despite

organisational difficulties.<sup>36</sup> More recent work has highlighted the moderating role of the patient–doctor relationship. In a study by Moreno-Jiménez et al<sup>37</sup> examining Spanish doctors, higher levels of commitment were associated with higher levels of turnover intentions in the presence of high frequency of difficult doctor–patient relationships, and may be explanatory in our findings of a positive relationship between overcommitment and burnout, including high patient-related burnout.

Although effort-reward imbalance and overcommitment are established risk factors for burnout, research has also reported the deleterious effects of both on physical and mental health. The theoretical foundations of the effort-reward imbalance model indicate high effort-low reward increases the possibility of negative emotions and sustained stress responses, whereas overcommitment increases risk of poorer mental and physical health.<sup>12</sup> High scores on the ERI and overcommitment have been associated with increased risk of coronary heart disease<sup>38</sup> and unhealthy behaviours, including smoking, alcohol and drug use.<sup>39</sup> This study found no significant difference between clinical and non-clinical staff in any elements of the ERI, indicating similar risks across area of work within the organisation. Although clinical and non-clinical staff have different roles within the organisation, they all contribute to service provision. It is noteworthy that overcommitment represents a personal characteristic, whereas effort and reward reflect organisational/situational-specific components.13 This may explain the effect of overcommitment across all burnout domains, whereas effort-reward has an effect on personal and work-related burnout domains only. Our study findings might suggest (when considered alongside the evidence of low rates of patient-related burnout in relation to high personal and work-related burnout) that the contribution of organisational problems or 'cultural' attitudes within an organisation may contribute more significantly to burnout than internal factors or 'vulnerability' of the workers.

Leiter and Maslach,<sup>40</sup> in an earlier seminal work, describe the importance of a 'fit' or 'match' between an organisation and an individual along six main work-life areas (workload, control, rewards, community, fairness and values), and reflect the major organisational antecedents to burnout. They argue of the importance for the 'worker' to perceived equity and fairness in reward received for effort given. Considering these areas in the context of mental health workers and the COVID-19 pandemic, staff workload increased, pandemic-induced uncertainty and loss of control were commonplace, and support from the community became less available with shift to working from home and reduced face-to-face contact. There may have been conflict between government/ Health Service Executive and psychiatry clinical values in terms of containing the virus and prioritising physical well-being at the expense of psychological health and quality of life, with the associated increase in psychological distress and mental illness. There was a perception of lack of fairness and proportionality of restrictions applied having had disproportionate effects on vulnerable groups, such as those with mental health difficulties, those with intellectual disabilities, the elderly and the younger population. Mental health professionals may have felt that additional resources, be they staff or PPE, might not have been fairly applied, and those in the community not favourably rewarded or recognised for their effort. All these organisational factors need to be considered when examining burnout among staff, and in planning interventions that are appropriate and effective.<sup>40</sup>

# Limitations

One important limitation of the study is the difficulty in accurately establishing a response rate, given the uncertainty as to the number who opened an email invite; however, the low response rate here is consistent with response rates from other studies using similar recruitment methods.<sup>6</sup> A second limitation is the selection of three MHS and lack of randomisation, thus limiting generalisability of the results; therefore the results cannot represent all workers in MHS in Ireland. Furthermore, the study was contacted in Western settings and this also limits the generalisability of the results. Finally, because this study was cross-sectional, causal and temporal relationship between burnout and practice environment and other demographic factors could not be determined. The strengths of this study include the use of validated scales, allowing for comparison with other studies, and the inclusion of non-clinical staff of the MHS who are excluded from most of the existing research, which tends to focus mainly on one discipline, usually physicians or nurses.

This research found a high rate of burnout, affecting 64.1% participants. Risk factors for burnout included female gender, younger age, urban service, time outside main responsibilities, overcommitment, high effort-reward imbalance, intention to change job and workload during the COVID-19 pandemic. Deterioration of personal mental and physical health during the pandemic and lack of opportunity to talk about work-related stress were also associated with higher burnout scores. These findings suggest that it is important to ensure the availability of support and that it is accessible to those at highest risk, including female and younger staff. Organisations have a responsibility to consider how best to support staff and to mitigate the effects of high workloads in times of crisis. There is a need for further research into organisational solutions to burnout, to sustain and build a healthy thriving workforce.

In conclusion, this study found high levels of personal and work-related burnout among mental health workers, but low levels of patient-related burnout. However, overcommitment was linked to higher degrees of patient-related burnout in additional to personal and work-related burnout, and highlights the importance of recognising potential adverse effects of strong personal commitment. Few variables directly relating to the COVID-19 pandemic were identified as risk factors for burnout. Although this may be partly explained by the timing of this study, conducted in the later stages of the pandemic, it also suggests the existence of burnout pre-pandemic, which was exacerbated by the additional strain placed on organisations and individuals by the COVID-19 pandemic. By mapping our findings to Leiter and Maslach's<sup>40</sup> interconnecting domains of work-life, our findings highlight the importance of recognising seminal organisational factors that contribute to employee burnout. In addition, this study suggests that organisational factors (in this case Health Service Executive) may contribute more to burnout than internal factors of the workers, and those factors pre-dated the COVID-19 pandemic and perhaps will continue to exist.

Dimitrios Adamis , Department of Psychiatry, Sligo Mental Health Services, Ireland; and School of Medicine and Medical Science, University College Dublin, Ireland; Elisha Minihan, School of Medicine and Medical Science, University College Dublin, Ireland; Noel Hannan, Department of Psychiatry, Saint John of God – Liffey Region Services, Ireland; and Department of Psychiatry, Saint John of God – Dublin South East Services, Ireland; Anne M. Doherty, Department of Psychiatry, Mater Misericordiae University Hospital, Ireland; Fiona McNicholas , School of Medicine and Medical Science, University College Dublin, Ireland; Department of Psychiatry, Children's Health Ireland (CHI) at Crumlin, Our Lady's Children's Hospital, Ireland; and Department of Psychiatry, Lucena Clinic Services, Ireland

Correspondence: Dimitrios Adamis. Email: dimaadamis@yahoo.com

First received 24 Jan 2023, final revision 16 Jul 2023, accepted 19 Jul 2023

## **Data availability**

The data that support the findings of this study are available from the corresponding author, D.A., upon reasonable request.

#### Acknowledgements

The authors express gratitude to all staff who completed the study, and to Dr Larkin Feeney, Dr Lauren Quinless, Dr Ali Nikkhah, Dr Eimear McMahon and Dr Faisal Saleem for assistance with recruitment of study participants.

#### Author contributions

All contributors have meet at least of one the criteria recommended by the ICMJE. F.M. conceived and designed the study. D.A. wrote the first draft of manuscript. D.A. led the data analysis assisted by E.M. F.M., D.A., E.M., N.H. and A.M.D. contributed to subsequent drafts and revisions of paper.

#### Funding

This research received no specific grant form any funding agency, commercial or not-for-profit sectors.

#### **Declaration of interest**

None.

#### References

- 1 Tawfik DS, Scheid A, Profit J, Shanafelt T, Trockel M, Adair KC, et al. Evidence relating health care provider burnout and quality of care: a systematic review and meta-analysis. Ann Intern Med 2019; 171(8): 555–67.
- 2 Hayes B, Prihodova L, Walsh G, Doyle F, Doherty S. Doctors don't do-little: a national cross-sectional study of workplace well-being of hospital doctors in Ireland. *BMJ Open* 2019; 9(3): e025433.
- 3 Bykov KV, Zrazhevskaya IA, Topka EO, Peshkin VN, Dobrovolsky AP, Isaev RN, et al. Prevalence of burnout among psychiatrists: a systematic review and meta-analysis. J Affect Disord 2022; 308: 47–64.
- 4 McNicholas F, Adamis D, Minihan E, Doody N, Gavin B. Occupational stress in clinical and non-clinical staff in child and adolescent mental health services (CAMHS): a cross-sectional study. *Ir J Psychol Med* [Epub ahead of print] 11 Apr 2022. Available from: https://doi.org/10.1017/ipm.2022.12.
- 5 Shreffler J, Petrey J, Huecker M. The impact of COVID-19 on healthcare worker wellness: a scoping review. West J Emerg Med 2020; 21(5): 1059–66.
- 6 Murray J, Adamis D, McNicholas F. COVID-19-related occupational stress in staff in an acute paediatric teaching hospital in Ireland. *BMJ Paediatr Open* 2022; 6(1): e001308.
- 7 O'Donnell S, Quigley E, Hayden J, Adamis D, Gavin B, McNicholas F. Psychological distress among healthcare workers post COVID-19 pandemic: from the resilience of individuals to healthcare systems. Ir J Psychol Med [Epub ahead of print] 8 Aug 2022. Available from: https://doi.org/10.1017/ ipm.2022.35.
- 8 Billings J, Ching BCF, Gkofa V, Greene T, Bloomfield M. Experiences of frontline healthcare workers and their views about support during COVID-19 and previous pandemics: a systematic review and qualitative meta-synthesis. *BMC Health Serv Res* 2021; 21: 923.
- 9 Minihan E, Adamis D, Dunleavy M, Martin A, Gavin B, McNicholas F. COVID-19 related occupational stress in teachers in Ireland. Int J Educ Res Open 2022; 3: 100114.
- 10 Kristensen TS, Borritz M, Villadsen E, Christensen KB. The Copenhagen Burnout Inventory: a new tool for the assessment of burnout. Work Stress 2005; 19(3): 192–207.
- 11 Winwood PC, Winefield AH. Comparing two measures of burnout among dentists in Australia. Int J Stress Manag 2004; 11(3): 282.
- 12 Siegrist J. Effort-Reward Imbalance at Work: Theory, Measurement and Evidence. Department of Medical Sociology, University Düsseldorf, 2012 (https://www.uniklinik-duesseldorf.de/fileadmin/Fuer-Patienten-und-Besucher/ Kliniken-Zentren-Institute/Institute/Institut\_fuer\_Medizinische\_Soziologie/ Dateien/ERI/ERI-Website.pdf).
- 13 Van Vegchel N, De Jonge J, Bosma H, Schaufeli W. Reviewing the effort-reward imbalance model: drawing up the balance of 45 empirical studies. Soc Sci Med 2005; 60(5): 1117–31.
- 14 Doherty AM, Colleran GC, Durcan L, Irvine AD, Barrett E. A pilot study of burnout and long covid in senior specialist doctors. *Irish J Med Sci* 2022; 191(1): 133–7.
- 15 McNicholas F, Sharma S, Oconnor C, Barrett E. Burnout in consultants in child and adolescent mental health services (CAMHS) in Ireland: a cross-sectional study. *BMJ Open* 2020; 10(1): e030354.
- 16 O'Connor K, Neff DM, Pitman S. Burnout in mental health professionals: a systematic review and meta-analysis of prevalence and determinants. *Eur Psychiatry* 2018; 53: 74–99.

- 17 Suleiman-Martos N, Albendin-Garcia L, Gomez-Urquiza JL, Vargas-Roman K, Ramirez-Baena L, Ortega-Campos E, et al. Prevalence and predictors of burnout in midwives: a systematic review and meta-analysis. *Int J Environ Res Public Health* 2020; 17(2): 641.
- 18 Crudden G, Margiotta F, Doherty AM. Physician burnout and symptom of anxiety and depression: Burnout in Consultant Doctors in Ireland Study (BICDIS). *PLoS One* 2023; 18(3): e0276027.
- 19 Tamata AT, Mohammadnezhad M. A systematic review study on the factors affecting shortage of nursing workforce in the hospitals. *Nurs Open* 2023; 10 (3): 1247–57.
- 20 Tham R, Pascoe A, Willis K, Kay M, Smallwood N. Differences in psychosocial distress among rural and metropolitan health care workers during the COVID-19 pandemic. *Aust J Rural Health* 2022; 30(5): 683–96.
- 21 Zhang WR, Wang K, Yin L, Zhao WF, Xue Q, Peng M, et al. Mental health and psychosocial problems of medical health workers during the COVID-19 epidemic in China. Psychother Psychosom 2020; 89(4): 242–50.
- 22 Taranu SM, Ilie AC, Turcu AM, Stefaniu R, Sandu IA, Pislaru AI, et al. Factors associated with burnout in healthcare professionals. Int J Environ Res Public Health 2022; 19(22): 14701.
- 23 Sprang G, Clark JJ, Whitt-Woosley A. Compassion fatigue, compassion satisfaction, and burnout: factors impacting a professional's quality of life. J Loss Trauma 2007; 12(3): 259–80.
- 24 Hogue A, Huntington MK. Family physician burnout rates in rural versus metropolitan areas: a pilot study. S D Med 2019; 72(7): 306–8.
- 25 Zhang Y, Feng X. The relationship between job satisfaction, burnout, and turnover intention among physicians from urban state-owned medical institutions in Hubei, China: a cross-sectional study. BMC Health Serv Res 2011; 11: 235.
- 26 Anderson JC, Bilal M, Burke CA, Gaidos JK, Lopez R, Oxentenko AS, et al. Burnout among US gastroenterologists and fellows in training: identifying contributing factors and offering solutions. *J Clin Gastroenterol* [Epub ahead of print] 26 Oct 2022. Available from: https://doi.org/10.1097/MCG. 0000000000001781.
- 27 Maslach C, Schaufeli WB, Leiter MP. Job burnout. Annu Rev Psychol 2001; 52: 397–422.
- 28 Purvanova RK, Muros JP. Gender differences in burnout: a meta-analysis. *J Vocat Behav* 2010; 77(2): 168–85.
- 29 Doraiswamy S, Chaabna K, Jithesh A, Mamtani R, Cheema S. Physician burnout in the Eastern Mediterranean region: influence of gender and

related factors - systematic review and meta-analysis. *J Glob Health* 2021; **11**: 04043.

- 30 Artz B, Kaya I, Kaya O. Gender role perspectives and job burnout. Rev Econ Household 2022; 20(2): 447–70.
- 31 Montanes Muro MP, Ayala Calvo JC, Manzano Garcia G. Burnout in nursing: a vision of gender and "invisible" unrecorded care. J Adv Nurs 2023; 79(6): 2148–54.
- 32 LaFaver K, Miyasaki JM, Keran CM, Rheaume C, Gulya L, Levin KH, et al. Age and sex differences in burnout, career satisfaction, and well-being in US neurologists. *Neurology* 2018; 91(20): e1928–41.
- 33 Schadenhofer P, Kundi M, Abrahamian H, Blasche G, Stummer H, Kautzky-Willer A. Job-related meaningfulness moderates the association between over-commitment and emotional exhaustion in nurses. J Nurs Manag 2018; 26(7): 820–32.
- 34 Seibt R, Kreuzfeld S. Influence of work-related and personal characteristics on the burnout risk among full- and part-time teachers. Int J Environ Res Public Health 2021; 18(4): 1535.
- 35 Zhou S, Chen H, Liu M, Wang T, Xu H, Li R, et al. The relationship between occupational stress and job burnout among female manufacturing workers in Guangdong, China: a cross-sectional study. *Sci Rep* 2022; 12(1): 20208.
- 36 Hobfoll SE, Johnson RJ, Ennis N, Jackson AP. Resource loss, resource gain, and emotional outcomes among inner city women. J Pers Soc Psychol 2003; 84(3): 632–43.
- 37 Moreno-Jimenez B, Galvez-Herrer M, Rodriguez-Carvajal R, Sanz Vergel AI. A study of physicians' intention to quit: the role of burnout, commitment and difficult doctor-patient interactions. *Psicothema* 2012; 24(2): 263–70.
- 38 Dragano N, Siegrist J, Nyberg ST, Lunau T, Fransson EI, Alfredsson L, et al. Effortreward imbalance at work and incident coronary heart disease: a multicohort study of 90,164 individuals. *Epidemiology* 2017; 28(4): 619–26.
- 39 Li J, Matthews TA, Chen L, Seamans M, Leineweber C, Siegrist J. Effort-reward imbalance at work and drug misuse: evidence from a national survey in the U.S. Int J Environ Res Public Health 2021; 18(24): 13334.
- 40 Leiter MP, Maslach C. Six areas of worklife: a model of the organizational context of burnout. J Health Hum Serv Adm 1999; 21(4): 472–89.

